For Non-Uniform Acceleration, Differentiate or Integrate the Vectors

When you've got a particle moving in two dimensions you can still use the relationships
between displacement, velocity and acceleration (see page 190):

Differentiate Differentiate
DISPLACEMENT (5) "> VELOCITY (v) "o ACCELERATION (a)
Integrate Integrate

This means that you'll have to differentiate and integrate vectors written in i and j notation. Luckily, doing this
is as easy as squeezing lemons — just differentiate/integrate each component of the vector separately:

So, if s = xi + yj is a displacement vector, then:
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It’s a similar thing for integration:

If v = wi + zj is a velocity vector, then displacement vector, s = f\r dr= f[wi +g)dt= [f w dr]i +[fz dfi





